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What you need to kKhow:

J3 Identifying/inserting chords t0 Cadence points unhder
melodies

J3 Diminished 7t

J3 Dominant 7t

J3 Added 6t

J3 15t and 2" inversions of major and minor triads

J3 Chord II and 15t inversion (major Key only)

JJ Bass Clef C-E

J3 Transposing bass Clef into treble Clef

J3 Rewriting (treble and bass) a hote at the same pitch
using up to 2 ledger line

J3 Augmented triad

J3 EnhharmonicC equivalent — rewriting at Same pitCh

JJ Gcales and key sighatures up to 2 acCidentals

JJ 8va, 8Vb

J3 Ties

J3 gyncopated rhythms

J3 5/¢ Time sighatures

J3 Dal Segno D.G, and Fine

JJ Time changes
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Section 1 —Bass Clef Q
—_— T

For Advanced Higher, You are expected to Khow al| hotes up to
2 ledger lines beyond the stave.

Don’t
FORGET!
IR
000

Exercise 1: Identify all the hotes below by writing the |etter underheath each hote.

It’s just alphabetical
order!

o O0C

;o oo

,9: e R

— oo+t
_e_v'e'

EXxercise 2: Work out what each hote is below and write it on the space below.

o o

+): 4 © - e)

~ O

o

Exercise 3: Work out the words that have been Created from the hotes below.

® (5




gection 2 — Transposition 5
\

YOou nheed t0 be able to trahspose up Oor dowhn ah oCtave in the Same Clef.
Trahspose bass Clef into treble Clef and treble Clef in bass Clef.

Don’t

2, FORGET! All rhythms and pitches must
A be correct.
e .00

AcCcuracy is important!

The relationship between the treble and

From this, it Cah be seen the hote middle C
bass Clefs cah be seen in the following:

in the treble Clef, is written like this in the
bass Clef. They are the same pitch.

¢ —aw o O © D
Foue ) ©-
A B C D E ¢

PR o T~

Exercise 4: Transpose the following passage (JP onhe oCtave in the same Clef.

P o o . dl

| REE

CENZ | el

Exercise 5: Transpose the following passage DOWN one oCtave in the same Clef.

-

i ) o
e O] |
A | —

4




EXercise 6: Transpose the following treble Clef phrases into the bass Clef as the same pitch.

a)

b)

o> 0 9 o _o P L LeL L A=

EXxercise 7: Transpose the following passage up ohe oCtave into the treble Clef.

a)

T —-ﬂl.:{'i | 5
. e ‘ ’
7 : 4

/

IV

v
b)
FAIHA ;¢ ’ A

A ——— ¢ o —

—




Section 3 — Key Sighatures I)

AcCcidentals:

A sharp raises a hote by a semitonhe

b A flat lowers a hote by a semitone

A hatural cancels out all other accidentals

Don’t

& FORGET! When adding an accCidental it
N must g0 in the correcCt place!
e 000 Accuracy is important!

EXxercise 1: Fill in the blanks of the passage below. This is revision from N5 and Higher

One sharp ( ) is the key of
One flat (___)is the key of
NO sharps or flats, you’re in the key of

But if there’s in the tune

You’re in the Key of




Key Sighatures for Advanced Higher

EXercise 8: Fill in the correCt acCidentals £Or each Kkey sighature.

C Major & A Minor

G Major & E Minor

F Major & D Minor

Bb Major

D Major

5N LGNS NG BN BN

Exercise 9: 1dentify the key sighatures in the following examples.

Key:

ﬁj === =
e [ p——

Key:

by
=

Key:




gection 4 — Enharmonics ~ Ua

Every musical pitCh has more thah ohe hame.

The hame that we use to define g pitch is determined by the sCale or the
Kkey that the music is being played in.

Different hames that are used to define the same pitCh are Called
ehharmonic equivalents.

ExercCise 10: Identify the notes below, and identify their enharmoniC equivalent.

F#
Gb

s

TO
) O 1O —
< O

Exercise 11: Write the enharmonic equivalent of the B Major scCale.




gection 5 — Intervals

Anh interval is the sCale distance between 2 hotes. You already know some intervals:

An oCtave is the distanhCe Of 8 notes between 2 hotes Of the same hame.

C <« octave
D

G
A
B
C

Other intervals you Will have met are a semitone (e.8. F# - )

and a tone es.F -@&)

This example shows the interval of a ¢™. A-D

. ToO CalCulate

¢ i the size of the
interval. Start
with the
[owest hote

TRegard note A’ as ‘7’ thenh ascend inh alphabetical

anhd count up
by step until

steps until ‘D’ is reached.

you reach the
upper note.

(a) - C 3 .H P

@
‘
‘.

e@%‘_lp
]
1]
]




gection 6 — Triads

Exercise 1¢: Complete the following chord tables for the major keys.

C Major

F Major

G Major

D Maqjor

Bb Major




EXxercise 15: Complete the following chords for the minor Keys.

A Minor

D Minor

E Minor




Section 7 — Inversions

The workbook for Higher Music deals with triads — 3 hote chords. (Jntil how we

have always dealt with triads in root position. This means the root is the lowest

hote (the |etter-name Of the triad)
C major,

Root position \:)y < P=Y

Root 3rd 5th

Pa ¥
-y

Let’s look at what are Called inversions of triads.
These are produced by using the 3 nhotes of the chord in a different order.

In the first inversion of any triad the 3™ wili always be heard as the LOWEST hote:

&%
-

F major, — O (e
. . . an)
First inversion Yc)y

3rd 5th Root

In the second inversion of any triad the 5th will always be heard as the LOWEST
note:

A minor, — O
Second inversion \.:)y =

-

5th Root 3rd

o]os

AnY triad Can be treated in this way. Here is 3 Chart of some familiar triads showing
the root position, 15t inversion and 2" inversion of each:

C major G major
O
[ ] t}_ ﬁ
" =4 y =4 © LDy O =
Root Ist  2nd Root 1st 2nd
position inversion inversion position inversion inversion
F major A minor
[ 3 [ ]
g8 8B g o B
.e- T
Root 1st 2nd Root Ist 2nd
position inversion inversion position inversion inversion
D minor E minor
e N E [ ] ﬂ
E =

e

= 4

S
Root Ist ~ 2nd Root 1st 2nd
position inversion inversion position inversion inversion




EXxercise 16: Identify the positions of the triads.

Choose £rom root position, 7t inversion or 2™ Inversion

(a) (b) (c) (d)
.) et -~ \J [® ]

EXercise 17: Identify the chord number and inversion.

A T A
)

Y]
9—5: O Q:L. () T
> r |74 I
Key: Key: Key:
Notes: Notes: Notes:
Lowest: Lowest: Lowest:
CHORD: CHORD: CHORD:
g s Al
oV =
D) o © D) g
>— S )
. L Laf} e )
” 5
Key: Key: Key:
Notes: Notes: Notes:
Lowest: Lowest: Lowest:
CHORD:____ CHORD: CHORD:
At A A
6°8 —S &—2
v © ) J O

:
W
9

Z Z 5 9:9

CHORD: CHORD: CHORD:

14



W 4

~ "  Gection 8 - Advanced Chords
Dominant 7t

One of the most familiar sounds inh harmony is the dominant 7. This chords needs to
resolve.

Tt is formed by adding the 7t note of ahy scale.

To form a complete dominant 7t chord we will use the 5% (dominant) hote of the scale as
the root, with the 3™, 5% and the 7*" above it.

C msor E minor,
R ‘ Chord V (Dominant)
Chord V (Dominant) Triad (B) +7th (B7)
Triad (G) +7th (G7) Q ”
59 Q . 15 %
&8 3 DR 2 |
V(G) V7 (G7) V(B) V7(B7)
Diminished 7t

Diminshed 7t's add a different feeling to music. The are made up Of 3 intervals, each a
minor 3™ apart. Known as the ‘evil’ chord.

Chord VII(7) in A minor Chord VII(7) ln C minor
(G#dim7) (Bdim7)
]
g A
i &> n
¢ Semm
minor scale)

In @ major key, the diminished 7" chord will use the root (7t hote of the scale), the 39, 50
and the flattened 7" above it.

Chord VII(7) in G major Chord VII(7) in C major
(F#dim7) (Bdim?7)
Pt
[ an ) P2IAN 3rd [ O an) }) ﬂﬂ{tzned Tth
~V | 599 ) Toot A3 £
v \11'1 Q) K : ) 3[d

Added 6

The added 6™ forms a chord from first half of 20%" Century. Tt is heard in Jazz styles. To
form a 6t chord, add the 6% note above the root. You always add the note that is the
MAJOR 6" (i.e dont add an accidental to this hote)

o \'\",”‘
W
%—ﬂo e e we GG
%gism Co

£ } 5th : e

A4 |2 \ — | 6 =

‘) -4 Q) Y. - C))mrgt \\\\ ; /// e
C6

Cm6(minor)

15




Augmented

The augmented chord sounds bigger and mysterious. You take the major triad ahd sharpen
(#) the 5 note.

nl
o — He—

e o
C major augmented G major augmented

el

Diminished ~_ ¥¥7

The dimihshed chord sounds unsettling and dissonant. You take the minor triad and
Flatten (b) the 5% note. All the intervals are made up of a minor 3.

A f)
N | £ an WA W2 4
> sV
8 S 'y,
minor diminhished E minor diminished

EXxercise 18: Identify the following chords.

Choose from Major, Minor, Augmented, Diminished 7", Dominant 7", Added 6"

| |

N

o )_g— 5

.
000

7
S

) . ¢

W)
1..—_1QH
e

/i
oL

16



Exercise 19: Create the following chords, using the given note as the root of the chord.

2=

©
()
MAJOR MINOR DOMINANT 7™
) =
¢ o €2 )
DIMINISHED 7™ AUGMENTED ADDED 6™
)——s
O
MAJOR MINOR DOMINANT 7™
© »
£2
O o >
) O
DIMINISHED 7™ AUGMENTED ADDED 6™

17



Don’t

L FORGET!
ST
LI

Section 9 — Chords ih Cadences

Chords ’| In C major In A minor

Perfect Cadence V(7)) toI G(7)to C E(7) to Am

Imperfect cadence ItoV CtoG Amto E

orlitoV Dmto G

Plagal Cadence IVtol FtoC Dm to Am

[Or Tierce de Picardie Dm to A(major)]

Interrupted Cadence V(7) to VI G(7) to Am E(7)to F

[Or V(7)o IV || G(7)toF E(7) to Dm]
ExercCise 20: Identify the Cadences in the musiC excerpts below.

b - = ! N , Ed ,

% T T S RS R PR
BEEEESES S te ==
s 3 o1 5 3 s & |2
Tt = o o = =

Cadence:

33 X 1 1 3 3 : 1 3 3
6%y Jzsls |2 |¢ |2 s
&+

Cadence:

18




1 T T
L = = - = |
"
| l
SEES 2 i

B B
L.

I

!

Il

= : -

‘Nll
v

L
~~
v,j‘

Cadence:

EXercise 212: Fill in the hotes Of the |ast 2 Chords tO Create the Cadences indicated.

IMPERFECT CADENCE

%;/ e o O A .Y .
9%

PERFECT CADENCE

2& = b g

i,

&
o

L



Exercise 22: Which chords would make these phrases end with Plagal Cadences? Write the

correct hames about the last two chords in each phrase.

(a)
// \‘\
> - Z
)] ~————
(b)
b /-"'" T —
e -
&» 2 . — 1 - g'
[Y) > *

Exercise 23: Complete ¢-part chords to make PERFECT or PLAGAL Cadences, according
t0 the Key and the given melody hotes.

(a) F major

(b) C major

(c) E minor

©

(@3

XS )

v 4

[ @ ]

9

162

')

Exercise 2¢4: Complete ¢-part chords to make INTERRIPTED Cadences, according to the
Key and the given melody hotes.

(a) C major

(b) D major

(c) Bb major

p

©

v

O

(@]

<Y
[))

9

>

20




EXxercise 25: Insert the hotes to Create the chords indicated, and identify the Cadences.

cadence
A ::'
6
)
9:::'
V7 I
cadence
A
@
)
9:
IV |
cadence
A
v
ANV
()
P
1 V
cadence

GNet

e

cadence
A
[
?;wb
)
IV |
cadence
A .-:'
()
9:::' .
V VI
cadence
f )
g,’,y 5
()
),
V7 |
cadence
f )
e
A\,
(),
¥
V VI




Gection 10 — Time Sighatures

Composers have chosen to experiment with different time sighatures, hot always wWishing to
follow the usual 2,3, Or ¢ beats in each bar. The interest in folk musiC by Composers such as
Bartok has given listeners an insight into some complexities of dance rhythms which are
used in central Europeah countries.

Tourists Visiting Greece and Turkey may hear dances written in irregular time sighatures
such as:

Several well-knowh composers have made use of 5/¢ — 5 Crotchets ih eaCh bar (3+20r2 +3
Or 3 mixture of both from one bar to another).

Tchaikovsky: Symphony NO. 6 in B minor — 2" Movement

(b)

b
|7
- -~

\.‘_—f’\.___/

Rhythm used - gﬁJ J DJ Il

/—_——\ m
1 D

7 [ )

- P~ L

b —

|

3

Other popular examples of 5/¢ Cah be heard in musiC from films such as “Lord Of The
Rings” and “TitaniC”. Popular musiCiahs have written pieces using 5 beats in the bar — Sting’s
“Geven Days”, “Face Dances Part Two” by Pete Townshend and “Living In The Past” by
Jethro Tull.

The effects producCed Cah be quite unsettling, add tension within the musiC or Create a
sense Of relentless movement.

22



EXxercise 26: Insert only ONE rest at the places asterisked to0 complete the bar.

(a) * *
1 u 1 |
e — —
(b) * *
3 N
=+ | | ‘L] -
) — .
* *

g 74 — )
) o — /

EXxercise 27: Insert bar lines at the Correct place.

g@!&b

.J:m*
;
i
!
:

0 f—
1 [ I [ )
e

TN
|
|
;
4

23



"9 @2 cection 11 — Syncopated Rhythms & Ties

Many styles of musiC have a regular pulse for almost the entire performance. Some pieces
use Rubato, Rjtardando, and other changes in the speed of the pulse to add Character and
variation to the music.

Much of the musiC we hear is built on regular bar lengths with a feeling of 2, 3, Or ¢ beats
ih each bar. In eaCh of these conventiohal patterhs the performer thinks of the first beat
as being slightly more stressed thah the others; in ¢/¢ tite the first beat is giveh more stress
and the third beat is also stressed.

, $13
[

[ .

gyncopation is the concept used to desCribe musiC where the stress is shifted from the
normal, conventional place in a bar by accenting or emphasising a beat Of part Of a beat
that is hot normally stressed.

| qr'— JF l ﬁﬁ#

i
—o o
. é i >
<9 o % —
J ——
Rests and ties creating syncopation:
- - L~
I 1 1 [ @ )
|
— @ J — > "d o o—fl

e = = —




EXercise 28: Answer the following questions below each example of music.

A
[ A \]
%Ubr 7 [ ]
) o
4
/
)
%y‘ 2 ) ’ — 17
) =g & > ~—
——

1. The Key of the musicC is:

2. The hote in bar 2 |ast for beats.

F [Z ' . £ ’ '
AN} 4 F c .
0 e
1. The key of the music is:
2. The last hote bar 1 [ast for beats.
|
———
I ' 4 »r— o
) L,'g’ o 5 o ¢ A S —
v ~ m—

1. The key of the music is:

2. The last note bar 3 last for beats.

25




Section 12— Gigns & Symbols &7

% D.S. al Fine

Simples!

D.S is an abbreviation of the Italiah phrase Dal Segho, meanhing ‘Frot the sign’. It direCts
the player to returh to g Spot earlier in the sCore that’s marked by the symbol.

If the marking says D.S al Fine, then the player is supposed to play from the sigh to the
“Fine” marking.

play to D.S ine — >
?ﬁ?#“w freferrrttr il
- Fine D.S. al Fi
k- ====d____ go back to §§ - - - bewmm—————=

play to Fine — -——--—-;{

. -

8Va and 8Vb

8Va means ‘play one octave higher than written’

Written Performed
- 8"’“— R _-; - t E ;
A . A * - - =
ANV | -_. E | I
o !
8Vb means ‘play ohe oCtave [ower thah written’
Written Performed
= E I
L L 4 &
* 3 * - ® g I
81;2;_ —— 1 [ J ; PR R
2=

26



D.C.

D.C this is ah abbreviation of Da Capo which means ‘From the begihning’. It is used to
avoid rewriting lohg passages whiCh are repeated from the opehing section of music.

ARTICULATION

Accent >
This is a Sigh that is used to indiCates which notes should have more emphasis.
=
/\ - -
J * * 2 N\ N
9 5/ ud 9 Qﬁ'—' ; 4 —
3 ECED) — — -lf_}' P —
M) —
Gtaccato

.

The word $taCCato meah detached and the sigh indiCates that the hotes are to be played
much shorter than normal.

; - . '] [ ')
AL ) .
ATLW )  —
-I & | EEEE——— |
I

Slur

S

(2

o~
>

‘kc

\NSY,
Y,

A Slur is curved line unhder or over two or more hotes of DIFFERENT pitches. Tt indicates
that the notes are t0 be played smoothly (legato).

Phrase Marks

Phrase marks |0OK like slurs but are normally longer and indiCate a Structure of a melody.

| / x TN~ .

(oL S e o

J — 7 —
3

27



Exam Style
Questions




[ | 1' I_l ]
o
) i ﬁI ]
) —
9 10 . .11
é# — —— g ——
> —J;.___ —T—
_._T

12| BC I 13} 14 CH
=== .7
—

= -
= ¢
~—
I 4II [ é
———

e

a) What is the key of the music?

b) TiCck one box to identify the chord outlined by the notes at CH.
1

v

\

Vi

¢) What do the dots in bar 10 mean?

d) Some rests have been omitted from the musicC. Add those required to complete the music.
e) CirCle an example of an anacrusis.

f) Transpose the passage marked BC down onhe oCtave into the bass Clef.




Practice QueStion 24
(AdV H 2016 paper Q%)

Ihsert the missing hotes in the box onh the bass Stave.

You will hear the musiC twiCe with a pause Of 40 seconds before the hext question starts.

~—

=
——
. .

¢

T 3"«'_"'

i}—-.—h—-

Notes

Listen to ahother part Of the same excerpt.

i) Idenitfy the type Of sCale used;
ii) Give the enharmoniC equivalent of the boxed note inh bar 3.

TRewrite this hote at the same pitCh oh the stave below.

(i) Type of scale:

ok T ' i
O e eeir 2 =

(i | Enhamicnic




3 g 5

\
\

1
N

P\ "
4 Lo 3 J- -
R T I ,

7 5 9 10

Lg
Q0
W

q-!-\
p

DL

- ‘v"l -
Fr/l Gm/ lic
Root 2™ Inv.
Chords Bass note

The key is F major

(i) Identify the boxed chords used ih bars 7 anhd 8. You should indicate the chord hame or
number and, where appropriate, 1 or 2" inversion.

(i) The chord used in bar 9 is Gm 2" inversion/Chord TIC.

(iii) {Jsing the rhythm provided write the appropriate bass hote to make the chord a 2"
inversions.

You will hear the musiC again, followed by a pause Of 2 minutes before the next
questions starts.

31



Practice Question 3
(AdVv H 2016 paper Q5)

This question is based on ah excerpt from a sons.

Listeh and follow the guide to the musiC oh the hext page.

Here is the music.

You how have 1 minute to read through the questions below.

a) Write the name of the key in the box above bar 1.

b) Insert the missing rest(s) on the stave in bar 4.

C) Insert one tie in the boxed area (bars 1 ahd 2) to make the musiC matCh what you hear.

d) Insert the missing notes on the stave in bars 14 and 15 using the rhythm provided.

During the next plaYings complete your ahswers a —d .

The music will be played two more times With a pause Of 20 seconds between playings.

You should write all Your answers on the guide to the musiC oh the hext page.

Here is the music for the second time.

Here is the music for the third time.

You how have 2 minutes to Complete your anhswer. A warhing tone will sound 30 seconds
before the end of the question.

32



e The

&
.
e

S
F

a) Ky,

() Rest{s)

Y

I )

i

ﬂ.l_
|r1

-
|l
r

_|-_-|_.

I

id] Motes

d

]

/

s

ik

i3

33



N— 4 W
7)o
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| == | Check your Knowledge "
‘ r SR
!{?’g};\
' NN

Practice Questions Mark |Teacher’s
check

Question 1 /(6

Question 23 2

Question 2b /3

Question 3 (4

_
What Do I Need to Recap?

7

Concepts to ReCap:
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